KTRE THH5EE BHEIDHE HRE(RBR)2013EE

H&E 2013 £ H&# 1,849,676 1,407,433|2013. 48 ~2014.3 8
5/ A 208 |AVULK HERARE 16,899| 50% 8,449 (48 5>
6|8 24|18 | HYYAR HEMRE 13,459 50% 6,729|5 84>
7|8 108 |[AVUA HERARE 15,306 50% 7,653(6 A %>
8 A 29|18 |HYUAR HEMRE 18,523 50% 9,261|78%>
9/ A 26/8 |AVULK RERARE 8,394 50% 4197|885
10/ B 178 [AVUsr HEMRE 13,802 50% 6,901|9 84>
118 22|8 |AVUE RERARE 18,328| 50% 9,164|108 %
12/ B 17|18 [AVUsR HEMRE 13,729 50% 6,864|11 A%
118 16|8 AV RERARE 13,695 50% 6847128 %
118 24|83 |[AVIAR HEMRE 2,494| 50% 1,247 B %
2|B 28|8 |[AVIAR RERARE 12,013| 50% 6,006 (1 8%
3/ A 198 [AVUsr HEMRE 10,365, 50% 5182|284
4| B 718 |AvUst RERARE 15,729| 50% 7,864 |38 %
HEMRE 172,736 86,364
A g s p =2 o AR AT 5T, AT
2|R 17/8 émgmﬁ]ﬁﬁﬁ%ég{ RE | mize s 14,480| 100% 14,480 ;ﬁg;lﬁrﬁiﬁﬁz—ggﬁ?gl ?ﬁé?ﬁ?ﬁ]
ER1T. 2B 188Xk, (ATAIZEA)
H26 F EICTE X BN RATICEE, Fhl
2/A 18|H |EHYLATHAEREZR JRESE RAEARE 13,640| 100% 13,640 g%%bﬁomlﬂm—:ﬁ%ﬂ%}i KTEE
28,120 28,120
HEHMRE 2,050,532 1,521,917
9 8 7B BIXRSSNE HEE 10,000| 100% 10,000




HEE 10,000 10,000
5 8 21|B |=Za—X{ERLENLS IREEIRIRE 163,800 75% 122,850 |A4 X 4P 10000%f (H5—)
9/ 8 24|B |=Za2—X{ERLENLS [REEILERE 109,200, 61% 66,612|A4 x 4P 10000&B (H5—)
118 14|8 |=2—XErEN.10 RESIRIRE 179,707| 90% 161,736 |A4 X 4P 10000&8(H5—)
2|8 27|8 |=a—RERENLIT [LEEILERE 90,300, 78% 70,434 |A4 X TEHE 10000%R (H5—)
543,007 421,632
L8RE 543,007 421,632
4/H 118 |BEREJAMPEESH BHEBAE 63,525 100% 63,525(2013. 48 ~2013. 98
9 A 20| B |BE@E{EJAMPEESEH BREAE 63,630, 100% 63,630/2013.10 A ~2014. 38
129/ 8 27|8 [T L —3RsRIBESE R BHEAE 14,700| 100% 14,700(2013. 4~2013. 11 B9 %5t L
9/ A 26|/ ([P v/ s—FrsRIgEsH BEHEAE 7,350( 100% 7,350(2013. 128 ~2014. 48
3 A 3118 |MEREBAIESH BHEBAE 6,000| 100% 6,000(2013. 48 ~2014. 3H
5 8 298 |E%# BEHEAE 1,000/ 100% 1,000| 20155 BEEF R D AR R
5 A 29|H |E4% BEREBAE 1,300| 100% 1,300|[TFXLDRKIILKEL, FATI
5B 29|H |E% BEXEAE 1,995 100% 1,995 | EE B A L BAKRRRE]
9/ 8 6|8 |E£ BEXEAE 1,300| 100% 1,300 [[2025F &R IR AT ER LN 2 ]
10/A 24|8 |E4% BEREBAE 3,360| 100% 3,360 [ % B E2013]
10| A 30| |E% BEXEAE 3,360| 100% 3,360 |[fEMEDYZZ 5]
EHBAE 167,520 167,520
4R 30|H |BHEKRE4LR EHE 70,000| 50% 35,000
5 A8 318 |BHEKRESAR EHmME 70,000 50% 35,000
6 A 29|H (BHEKE6R EHE 70,000| 50% 35,000
78 318 |BHEKRETR EHmME 70,000 50% 35,000
8/H 31|B |(BHEKESA EHBME 70,000| 50% 35,000
9 A 308 BHEEREIAR EHmME 70,000 50% 35,000
10| A 31|8 |BHKREI0R EHE 70,000| 50% 35,000
1A 308 EHKRENA EHmME 70,000 50% 35,000
12| B 28| |BHBKRE12R EHBE 70,000| 50% 35,000
118 318 BHEKREIAR EHBmME 70,000 50% 35,000




2|A 28|H |BHEARE2 EHBmME 70,000 50% 35,000
3|A 318 $?§Fﬁ”“* EHmME 70,000 50% 35,000
840,000 420,000

5 A8 27|18 |¥EFEE4A EKE 5223| 33% 1,723
6|8 25|H |¥#EwERESA EBE 5421| 33% 1,788
7|8 258 |¥EHEE6A EHE 5223| 33% 1,723
8 A 26|H |¥EWEETA EBE 5223| 33% 1,723
9/ A 258 |¥EHEESA EHE 5223| 33% 1,723
10| B 25|H |¥EwEREIA EBE 9,462| 33% 3,122
1A 258 |[EHESEI10A EKE 6,724| 33% 2,218
12|18 25|8 |EHEEA EBE 5223| 33% 1,723
118 27\/8 |EWEE12A EHE 5265| 33% 1,737
2/ A 25|H |¥EWEEA EBE 5223| 33% 1,723
3|A 258 |EwEE2AR EHE 5757 33% 1,899
4R 25|H |[¥#EHERESA EBE 5223| 33% 1,723
BHE 69,190 22,825

EBE 69,190 22,825

&t 3,680,249 2,563,894




